A & O &8 A & Ml M
20169 &= 20il &t LB QM G Al
S A A D
M T Az
el otEStD BES E=2Ils M2 (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
oM & Al 1t 2,884,448 2,927,543 A 43,095
=2 17,110
Al 3,922
- 2,863,416
S A2l 133,726 92,156 41,570
etMGtD HEE T2Is M2 133,726 92,156 41,570
T2 ¥ II2FH| 76,494 74,926 1,568
201 2Bt2 Yl 17,844 16,676 1,168
01 AtR 2t 2l | 3,700 3,700 0
OFsg==+g 350,000& 102 X 3,500
OMe =2 DXA 70,000 *24f Xt 140
OXMgxdE =8 3,000 x2024 60
02 s3=9Hl 14,144 12,976 1,168
OXNsSx SFHERES 512
ostExH(UE) 201,000 = 1CH »22 402
oSS (AH) 55,0003 »1CH*23] 110
O Xt = XHAl 33,0003 = 1CH 33
OXsx=Eg= 971
ostExH(UE) 601,000 = 1CH 601
oSS (AEH) 370,000 = 1CH 370
OJtz3dHl Xy =50 & UK
4,000,000 20K 8,000
Oxgae SUHES AISE
80,0003 x1CH 12 960
OZ=Z A4 Tolitha SHE
3,668,000& x13] 3,668
203 2R =AY 11,000 11,000 0
03 Al FXH =AY 11,000 11,000 0
OtE Al AIHFA 3,000,000& 3,000
OFXTA= &2t AIBFA 5,000,000& 5,000
OXgser AIM=a 3,000,000& 3,000
206 M =8l 13,250 13,250 0
01 M= dl 13,250 13,250 0
OXMesE ost E22+8 M2 13,250
o AHE 5,000 60 L CH 300
o Z2ef 55,000 =10m* 550
oOtA 2 13,0003 800 CH 10,400
o Xt 50,000 x10m* 500
oJIEt B (BAHA S 58)
1,500, 000& 1,500
305 Hats s 2,400 2,000 400
o1 =S 2,400 2,000 400




2N
X ZH -
L= B

el

OFM & Al 1t
S AI2te]
Ot

SA - BB B () - MM - BES Ol &t o San HmEET
OLZANEE S XAl Hi & 2,400,000& 2,400
401 Al HIZ 201 8] 32,000 32,000 0
01 A& HI 32,000 32,000 0
Otz A= s == % &Edl  20,000,000& 20,000
OBIFFZ2E =220 2e2ldl  1,000,000& 128 12,000
AEHFIHINE 29 1,129 1,127 2
201 LBH2E | 1,129 1,127 2
02 3322l 1,129 1,127 2
OHIIRa 35,000& 128 420
O&3tx A 24,0003 x13] 24
oHgs oz 1,370& *500L 685
CEA ¥ LAFEXNE NE BS 45,530 5,530 40,000
201 L2l 4,930 4,930 0
01 At 22l 4,930 4,930 0
OoOxg=(ot - s2) 110,000& x5H 550
OLE4 S B8Y - o2t 2yl
3,900,000 3,900
OL4AXE 28 =IIY X 30,000 «2CH *83| 480
206 M= Hl 600 600 0
01 = Hl 600 600 0
OL&4FXE CH=5ZHI 600,000& 600
401 AIEHI L 2 CHYI 40,000 0 40,000
01 A& HI 40,000 0 40,000
OXMSANTU L2UEZ S (LASHE &M)
20,000,000 =14l 20,000
O-&& 2HEH E2dl 1,000,000 «207H £ 20,000
2Es Gt A5 FX 10,573 10,573 0
201 Let24d] 5,003 5,003 0
02 =24l 5,003 5,003 0
OXNESA SFMERES 402
ostExH(UE) 201,000& »23] 402
OXsi B2 601
og2XHUH) 601,000& 601
Odt= &4 Xte RFH & =2l
4,000,000& 4,000
206 = Hl 570 570 0
01 MHZ 4l 570 570 0
EHE XU (e 55 80F)
570,000& 570
401 A& HIZ 201 8] 5,000 5,000 0




S HE T Al D
M A2
SRl 2HEGHD HXE ©2IIS KD (29 a8)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 Al&H| 5,000 5,000 0
ool =& Hel 5,000,000 5,000
T Al OF2FXRYAIE 22 516,823 791,923 N 275,100
op2+ @ 2o 516,823 791,923 N 275,100
s ¢ 2Bots 22| 435,723 435,723 0
201 et A | 360,845 360,845 0
01 AFR 22l bl 750 750 0
Oxg=(st-s2) 110,000& *5H 550
Oetd g (& A3 40,000& *5H 200
02 3524t 360,095 360,095 0
OXste: &IIe2 15,919
cllEgka 6, 1603 *9. 5KWx2JH A~ « 128 1,405
oNMaEaRa 87.2&%9.5KWx24h*2JH A 365 14,514
OJgs dMIIe=3 155,113
oJllEgez 6,290 *3KW* 1180 A~ «12& 26,720
oHTRI
85.9& 1,820 0. 25KWx9h*365L 128,393
2ots dIIe=a 6,600,000& ~12& 79,200
OBIFFZ & d2XYH MIIR2 18,453
cllE2ka 6,290& *70KW*12& 5,284
oMaEARZ 85.9& *70KWx6h*365 13,169
OootEE XY MIIRS 3,220
cllEgka 6,290 *9KW+ 122 680
ocNMAEARS 85.9& x9KW*9h+365< 2,540
Os4da 3 dIIea3 5,366
oJlEgez 6,290 *5KWx3JH A~ «12& 1,133
oM Z 85.9& *15KW*9h*365 4,233
O=ZHAZE AlEE=2 MAOX M2 1,431
cll2ka L2903 x IKW*4 0l A+ 122 302
oMaEARZ 85.9& *4KW*x9h+365< 1,129
OUHEZ(ZHMAZ)MEOIX &2 3,220
cllEka 6,290 *3KWx3H A~ «12& 680
ocNMAEAR S 85.9& xOKW*9h+365<! 2,540
O35 MY=3 A4FX I3 1,074
ollgea 6,290 *3KWx 122 227
oM Z 85.9& *3KWx9h*3652! 847
O8W ESA02EXE M2 2,147
cllzka 6,290 *3KWx2H A+ 12 453
oMaEARZ 85.9& *6KW*x9h+*365< 1,694
OZss #Isd &3 1,074
cllEka 6,290 *3KWx 122 227




FSE=pNI
Al OFZEEEAIE 22|
22 B IY M
M- B8-S (3H) - HRAY - BES il
ocNMAHARS 85.9& *3KWx9n*365 847
OBFLIE CHUAIEE HIIRS 359
=llER3 6,290 x1KWx12& 76
ocNMAHRS 85.9& * 1KWx9n*365 283
Og=s FEH AUHEXE MIR2 1,789
2R 6,290 x5KWx 123 378
oMAHRF 85.9& x5KWx9n*365 1,411
Os&s M= 4EXE2 &IIR=S 359
cJIERS 6,290 x1KWx12& 76
ocNMHAHARS 85.9% * 1KWxOh*365< 283
O+ ZEFINE 2433 XY ML= 716
°Jl2R3 6,290 x2KWx12& 151
ocMEAHARS .9 *2KW+Oh*3652! 565
ozsEz F&2xdg ¢ ¢ HIIe= 2,147
cJIE2RS 6,2903 x6KWx 123 453
oclMEHARF 9% x6KW*x9h*3652! 1,694
OZ=22 =ZANE I3 15,838
cIIERS 6, 1603 *BKWx3JH 2«10 1,479
oNMAHARS 87 .2 *24KWx10h*3002! 6,279
cIIERS 6, 1603 x25KW+1J1 2«10 1,540
ocMAHARS 87. 23 x25KWx10h*300 6,540
OgetHZHOIE s 2 dIIe=s 3,050
°Jl2R3 6,160 »18kwx12& 1,331
ocMEHR= 87.2°3& +18kwx3n»365 1,719
O=HMAES Z2xE &S 2,884
cJl2Rs 6, 1603 *8kwx12& 592
oMAHRF 87 .23 8kwx9n*»365 2,292
Ot BHOIE s 52 |RA22/4l 5,760
o&dd =2 240,000 20123 5,760
OXNSA S3MERES 160,000 = 1CH 23] 320
OJDJtALeIX BE =2 270,000& «1CH 270
OZ&XHAE |X2e 35,450
oW A&AXxYH 1,000,000 *2H 2~ 2,000
o0t2l&dAHel 222 Y 80,000,000 *3% 2,400
o= J&XTH 360,000,000 *3% 10,800
oBIFFZE Z&xY 675,000,000 *3% 20,250
oIl |RX2cl 900, 000& *4[CH 6% 216
OXJLACHRI XH(THE ) Xl 4,000,000 «1CH 4,000
OJNZXHEAL sZ2e| SUHAES AR
60,0003 x1CH*12& 720
206 M= Hl 74,878 74,878
01 M2l 74,878 74,878




SN OETAD
Bu: A OIIEZAIL 22
S ortF &M (&)
SA - BB B () - MM - BES Ol &t o San HmEET
oitzs E=XHM 41,918
cHULIEEHEED
17,5003 *800S *{ (365 *12A1 2+ ) /14,000 Al 4,380
2+
oLIEEEDI 19,500& *800S *10% 1,560
oMt EHZ
58,3002 x700S *{ (3652 *12A1 2t) /14,000 Al 12,768
2t
oHetUNESHZE HFD|
37,620& 700 *10% 2,634
olED &= 1,000,000& *300S *2% 6,000
oY #XZ
10,5003 #4255 +{ (3652 *12A1 2+) /10,000 Al 2 194
)
o AZUE SI1+7 75,000& *1,820S *3% 4,095
o MAEEDI 400,000 1180 *7% 3,304
oHExE MM 2,840& +35,860m*5% 5,093
o ORI HH 7,500& x50 x12& 450
o Jt2J| Z0l 10,0002 34« 12& 360
odd 22E 45,0003 20 128 1,080
OXNotEE E+=XM 2,095
oyZHYD 1,610&x1001«12& 194
oy &S| 19,800 8 12& 1,901
oLets E=XH 30,865
oAt HEHZ
34,650 *2,300S *{ (3652 12A1 2+) /18,000 13,575
Al 2E}70%
o AMetUnE et DI 27,5003 *2,300S *7% 4,428
o=id SII+ 81,4003 *2,300S *3% 5,617
o XAs&EEDI 45,000& *2,300S *7% 7,245
2SS 2 2OS =5 L G2 I 81,100 356,200 ~275,100
401 AIEHI L 2 CHEI 81,100 356,200 A 275,100
01 A& Bl 81,100 356,200 A 275,100
OoLets &n &X 350,000& 505 17,500
OL% JH2&=F 1A 1,000,000& » 152 15,000
Ok -53d8 &2 FHl 5,000,000 =34 2 15,000
OL=2etE RAE+ 350,000 *2,400S *4% 33,600
SMEA 24 558,373 637,063 AT8,690
= 17,110
Al 3,422
T 537,841
=X0 =5 & 2l 558,373 637,063 AT8,690
= 17,110
Al 3,422
T 537,841




S A A D
B =MTA XY
el s =25 € 2l (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
tZ2ste & g 2el 308,434 304,730 3,704
101 212 8| 143,897 145,495 A 1,598
04 JI2tNZ22XHSE 143,897 145,495 A 1,598
OJz = - ot - g2 JIZ2HM2 2N A2 127,981
Sl 64,1502 «7& 23 « 1004 & 103,282
=Xt 64,1503 x7H 452 20,208
o Xt 64,1503 x7H +10 4,491
OAET BE = 15,916
o= EE3 127,981,000 & 4. 5% 5,760
oxQALEFRES 127,981,000 *3.035% 3,885
cFIQLEERES
3,885,000& *6.55% 255
clIEEERYES 127,981,000& *1.5% 1,920
SUMTHEERES 127,981,000& *3.2% 4,096
201 LBt2 | 16,932 33,840 216,908
01 At 22l bl 1,300 1,300 0
OzdZelH &Y 1,300,000& *1 & 1,300
02 224l 15,632 32,540 A 16,908
Os8 %I 2 55 FX &2l 300,000 «6CH 1,800
Osd &8FJ ¢ =) & RRURESR)
1,544 x5002| & 772
O=sXzel HdES 40,000 x13¥ 520
O&H & & -ot==23 40,000& #2304 * 11,040
OB4+S M2 HE & 34+E23(HH)
80,000 x12& 960
ORFAE USAFAE Hlle=s
45,0008 x 12 540
206 =4l 14,765 8,245 6,520
01 M= Hl 14,765 8,245 6,520
Oz =2el 8,920
oz 10,000& =70 700
oc®JlEHlg 4503 *1,600ke 720
oRJ1Etlg 500& x1,000kg 500
ocll==2¢ 20,0003 2502 5,000
SRS 10,000& »200= 2,000
Ostet=X 22l 2,845
o= 10,000& »50&H 500
cRJE HE 450% *1,500kg 675
cEEI=() 4,600 141 x200= 920
o2 MEQAE 2,500 3004 750
OXgz= & JIELAHM 10,0003 3008 3,000
05 Hia=sS 1,000 0 1,000




SAMN: oHEE Al D
HM: =MEA =4
oo =X 25 2 2 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 HiMd=SS 1,000 0 1,000
O=X&2 a2 1,000,000& 1,000
401 AIEHIL 20| 131,840 117,150 14,690
01 A& bl 131,840 117,150 14,690
O&H AIE2 SX2el 600, 000& *28H A~ 16,800
OFct AIdE2 A2 120, 000& =420 2 5,040
Otz B4 1,000,000& x202 20,000
OJt2 4 & X (B25cm0] 4f) 150, 000& *300= 45,000
OStH - sk =324 20,000& x1,000 20,000
O=2-Z2RA &5 | 100, 000& *100= 10,000
Og=Ft=Xl H=&g 849 3,000,000& x53] 15,000
Z37Y L YRE 2Y 159,497 155,606 3,891
101 @121l 41,115 38,724 2,391
04 JI2ZtH2Z2XNEE S 41,115 38,724 2,391
OXSAM & A2H 22| 2R 36,566
ool Ay 64,1503 »2H x232 x 10 & 29,509
o = It 64, 1503 x»2H 45 5,774
o A Xt 64,1503 x»2H 10 1,283
oansxeg=2 4,549
ocxnAZIREEZ 36,566,000& *4.5% 1,646
oI AHUBEHEEL S 36,566,000& *3.035% 1,110
oL I QLUYLEIEHEZ
1,110,000& *6.55% 73
ocIBRHEEEHZ 36,566,000& *1.5% 549
o IHEEEEZ 36,566, 000& *3.2% 1,171
206 TH 2 HI 93,182 91,682 1,500
01 M= bl 93,182 91,682 1,500
Ox3 - R & 2L 7,182
oXx3I2E 400& *10,000= 4,000
o 2J|&8Hl & 5002 *1,000kg 500
o= 10,000& 1504 1,500
o QA AE 7,000 * 100 700
oHIEIXZE 25,000& * 104 Xt 250
ofld 64,000& x22 128
o2& ¥ Xt 26,000& 42 104
O=xg+x¢ 38,200
og, (HE 700& *13,000=2 23| 18,200
oJig, A2 1,000& 10,0002 *x23] 20,000
OZ&EAZ2 29,400
ocZXMAS RABE/M) 13,000& *2,0007H 26,000
oAU Z(MESEEA) 170,000& *20 &£ 3,400

_7_




EX: oFE T Al D}
B =MTA XY
G sXt 25 2 22 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
OZULR(AE) 2,000 x2,300=2 +43| 18,400
401 A& H|IZ 2 0HY| 25,200 25,200 0
01 Al& B 25,200 25,200 0
QHJIIZ (%=, =&5)Aaldl
120,000 x210E 25,200
=Xl &2 X2 12,476 22,619 A 10,143
201 LBt Y| 12,476 22,619 A 10,143
02 Z2=2=24%4| 12,476 22,619 A 10,143
O Xt XtAl 25,650 «2LH 52
OXNSX Eg& 370,000 =40H 1,480
O0lEX 282 64,000 ~1CH 64
OXNSXEtINLaEEZ2 65,000 *4CH x23] 520
OstEx | X4l 2,500,000 ~4LH 10,000
OO0IEX ®X4| 360,000 =104 360
ZEZ AYIIEE 22| 49,450 39,850 9,600
201 et d| 17,450 17,450 0
01 AFR 2t 2| H| 1,500 1,500 0
OxEZ 2232 0ls&H edx=
50,000& *30Al 2+ 1,500
02 2324 H| 15,950 15,950 0
OF=ZBANEE ALK 22l 350,000 x25JH A&~ 8,750
Ox=ZANE & 232 1,200,000 *6 4 &~ 7,200
206 M 2 Hl 32,000 22,400 9,600
01 =4l 32,000 22,400 9,600
OJI2s2 & gHANE =3
500& *16,000 *4 3] 32,000
S Al=X el 28,516 14,258 14,258
= 17,110
Al 3,422
5 7,984
101 21 214| 28,516 14,258 14,258
= 17,110
Al 3,422
5 7,984
04 JIZtHI22XNSES 28,516 14,258 14,258
OEA=sX22 o8 28,516,000 28,516
= 17,110
Al 3,422
- 7,984
THol & THLHol et 51,965 26,965 25,000
Al 500
- 51,465
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M oA Al
M THoH 2 KHEHO
S Mol - e oy ¥ =+ (e A )

SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
Oodzeed BE8d +9
150,000& x1H 16 2,400
OXNsgME HHERESsXE
7,000& 1508 13| 1,050
OXsgMe Aol Xz bl 1,000,000& 1,000
Sxol EE2Y MY 3,000 1,000 2,000
Al 500
- 2,500
201 LBt | 3,000 1,000 2,000
Al 500
- 2,500
01 AR 22l ] 2,000 0 2,000
O=s22 M 2,000,000& 2,000
02 35244l 1,000 1,000 0
OSxdl2g s 1,000, 000& 1,000
Al 500
- 500
AEE N 2 FX 22 20,000 0 20,000
401 Al HI YL 2 0HHI 20,000 0 20,000
01 A& HI 20,000 0 20,000
O1-28 ANEES dLE(B4EHE &85 24)
20,000, 000& 20,000
HESHAMI (HE T AlD) 1,443,255 1,204,701 238,554
ol 2| 1,346,183 1,109,829 236,354
=X 22 H oES2AHH| 102,162 97,850 4,312
101 @1 21| 102,162 97,850 4,312
03 I L2 XNE % 102,162 97,850 4,312
O=X&2& 102,162
ollga 1,643,240 x2H 128 39,438
SENI0: =] 21,423
V== 1,987, 240& x2H *50%*4 3 7,949
dz24 1,981,240& #»2H *45%*2 3| 3,567
M| 1,981, 240& *2H x50%*53] 9,907
o™ MG 5,640
S EY (R A 40,000& *x1H x12& 480
IESL(BL - 1)
20,000& 2 x12& 480
ExgRY 125,000& x2H «12& 3,000
AAEA G 70,000& 2 x12& 1,680
oSl ZFMH| 8,533
HoHZg A 130,000& »2H x12& 3,120
H &S Y| 1,981,240& x2H *60%*23] 4,755




SN OETAD
M HHSHAH (HETAD
chel: ol gyl CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
A3 1,643,240 x2% x20%* 13| 658
cZWU2LLY 11,929
NECEE RS
14,4103 x150%*7 Al 2t %2 x 122 3,632
S22 86,360 x2 »2H «12& 4,146
Hisssit=E
14,4103 «8A| 2t 2«18 4,151
o P At 100,000& 2H 128 2,400
o CH Bl S AtHI 50,000& x2H 128 1,200
SPNE=PNE == 10,965
I0HSZEHEFE S 88,340,000 *4.5% 3,976
ENEENCE R
88,340,000& *2.995% 2,646
IEEERY3 88,340,000& *1.5% 1,326
MTHEERES 88,340,000& *3.204% 2,831
Lo QYRERYS
2,831,000& x6.55% 186
ocLSXENMEUHS 50,000 x2H 13 100
o HHE &AL 50,0003 x2H +13] 100
o Il = 4| 434
A= (6, 55) 110,000& »2H 220
Sl 50,0003 »x2H 100
OrM SH( & 5t) 40,0003 »x2H 80
- 2R 7,000& x2H 14
- &t 10,000& »2H 20
cReEsd 2%y 1,244,021 1,011,979 232,042
101 @14l 1,244,021 1,011,979 232,042
03 RIHA2ERE S 1,244,021 1,011,979 232,042
OtzE=x¥ 1,244,021
=lleg 1,849,400& 18K x12& 399,471
cd0= 268,893
CJ| Y=g 2,174,400 & »200%* 18H 78,279
d2+ 2,174 ,400& x100%* 18H 39,140
M= ehetyl 2,174,400 & »250%* 18 H 97,848
HEF It 2,174 ,400& x120%* 18H 46,968
M= 1,849,400& »20%* 18 H 6,658
ocFAUF 53,160
CItESY (R 40,0003 x13H 128 6,240
s (822 - IUH)
20,0003 x20H «12& 4,800
SR 125,000 = 18H »12& 27,000
AT 70,0003 x18H 128 15,120
o =gl =4 60,480




M AT AL
B WS YA (A AID)
& o 2d|
SA BB O () - NRAY - HES il
FHZ A 130,000 = 18H »12& 28,080
2 A4 H| 100,000& = 18H »12& 21,600
- CHRI S At 50,0003 x18H x12& 10,800
SE =t et 137,549
NEEE RN
23,6803 x10A| 2kx18H x12& 51,149
Ot 2249 7,800 <4Al 2tx18H x 12 6,817
se2Re 94,7203 %20 18 34,100
ARSIt 126,340& 20 »18H 45,483
oXHEHEXSE 3,513
nsSsh 439, 1003 x2H x4 3| 3,513
olfstd &xta XN 300,000 *3H 13 900
oAMNENRES 114,529
I0HAZEHREZ 923,966,000 *4.5% 41,579
=ALEEREHEZ
) 923,966,000& *2.995% 27,673
CNESERYE 923,966,000& *1.5% 13,860
CMNEEREZ 923,966,000& *3.204% 29,604
LRI RABEHREES
27,673,000& *6.55% 1,813
o HHE AL 50,0003 x18H * 13| 900
ocLzXEMEUS 50,0003 x18H x 13| 900
&Y §&Z 200,000,000 «1H 200,000
o Il =l 3,726
A= (5 55) 110,000& = 18H 1,980
OrM SH( & St 40,000& »18H 720
S 7,000& x18H 126
get=s 50,000& »18H 900
|23 bl 97,072 94,872
A2 2Z3 I 97,072 94,872
201 L2l 13,092 12,492
01 AL 22| 13,002 12,492
STl EN-Y] 279,0008! +24% 6,696
OUNSR=Z(FXCAZHA) 50,0008 <128 600
OJI2ARLHI Yl 7,0008 +341+23% « 128 5,796
202 4 HI 74,880 74,880
01 =S LHAYI 74,880 74,880
OJlege=gdutl 260,000& x24H x12& 74,880
203 R =&l 7,500 7,500
01 JI22E YR =8H 3,300 3,300
OFZXTANIE 3,300,000 3,300
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